BUUEmEF—sRPE2HES 111 BEFES 1 BHEBEEREREMERHEHEX

CERFE D A RKRTIVILAEADY 15 P FHKFREINF F 1110037509A L2 111 £ 8 8 3 p & FAREINF F 1110092750B HL > £ #4320 111.08.09
by |w s BRI IR R CR WES o | D | R
L L AL wZE e ¢ e (™ %) % 2r
Flalav | (5 |av | F |y | F | ey | B |5 ey | F |2 v | F |2y | B |5 ey | B0 | BUHFE
BB FEIR )R ORRIR R PRIR R FRIR R |RRF R PRI R R FRI PR |RR) HER | HEF
6,240|1,740{ 80 |4,368(1,740( 80 |3,744|1,044| 48 |1,872| 522 | 24 0 0 0 0 0 80 0 0 0 [2,496| 696 | 32 616 0
6,240|1,740{ 80 |4,368(1,740( 80 |3,744|1,044| 48 |1,872| 522 | 24 0 0 0 0 0 80 0 0 0 [2,496| 696 | 32 1,232 0
6,24011,740 80 |4,368(1,740( 80 |3,744|1,044| 48 |1,872| 522 | 24 0 0 0 0 0 80 0 0 0 [2,496] 696 | 32 0 0 1. 2-@=x K
A é#_{_g (201-202) |6,240[1,740| 0 [4,368[1,740| 0 |3,744[1,044| 0 [1,872] 522 | © 0 0 0 0 0 0 0 0 0 (2,496 696 | 0O 0 0 mﬁiﬂ,if’u?m
- B/ 4 B (203-216) [6,240|1,740| 320 [4,368|1,740| 320 |3,744(1,044| 192 {1,872 522 | 96 | 0 | 0 | O | O | 0 [320]| 0 | O | 0 [2,496| 696 | 128 0 0 I TP
E| BEF T (217)  6,240(1,740| 320 |4,368|1,740| 320 |3,744(1,044| 192 {1,872| 522 | 96 | 0 | 0 | 0 | 0 | 0 [320] O | O | O [2496| 696 | 128 616 0 p;i"é " 550
- ﬁftli!’_;wx fﬁ.f_{ (218) 6,240(1,740( 320 |4,368(1,740( 320 |3,744|1,044| 192 |1,872| 522 | 96 0 0 0 0 0 [320] O 0 0 [2,496| 696 | 128 616 1,760 2. 2@z %gp
A5 (219) 6,240(1,740| 320 |4,368(1,740| 320 |3,744|1,044| 192 [1,872| 522 | 96 | 0 | 0 | O [ O | O [320] O | O | O |2,496| 696 | 128 1,232 1,920 RERE
A éﬁig (301-303) |6,240(1,740| 0 [4,368[1,740| 0 |3,744[1,044| 0 [1,872] 522 | © 0 0 0 0 0 0 0 0 0 (2,496 696 | O 924 2,080 E;,]{I?;LI;.;
ﬁ“):l’iﬁidi (304-311) [6,240|1,740| 320 (4,368|1,740| 320 [3,744|1,044| 192 [1,872| 522 | 96 0 0 0 0 0 [320] O 0 0 [2,496| 696 | 128 616 2,080 INEE I %
= i#%% (312-316) (6,240|1,740| 320 (4,368(1,740| 320 |3,744|1,044| 192 [1,872] 522 | 96 | © 0 0 0| 0 [320] 0 0 0 [2,496] 696 | 128 616 2,080 sz‘_ %%‘ e
# B2 FRFL (317)  [6,240(1,740| 320 |4,368(1,740| 320 |3,744(1,044| 192 [1,872{ 522 | 96 | 0 | 0 | O | O | O [320] 0 | O | 0 [2496| 69 | 128 924 2,400 G
- # 2 FRTL (318) 6,240(1,740| 0 |4,368(1,740| 0 |3,744|1,044| 0 [1,872|522| 0 0 0 0 0] o0 0 0 0 0 [2.496] 696 | 0 616 1,760
871 (319) 6,240(1,740| 0 [4,368(1,740| 0 |3,744(1,044| 0 [1,872|522| 0 | 0 | 0 | O | O | O | O | O | O | O [2496 69 | 0 0 0
CHE R (R PR AR ) ZARINEEARS 1 FH Mt yER FRE R € ARy
1. 5% /%Hagy 3,700 =700 ~ o 8. RE € F 100~ o (T r B 15. 8 - 2 3 = &4 F % 260n(%£f'/:%f)o
2. B AmLF R kY 1200 & o 9. FT&H 50 & o (MfT ~ AL H) 16. & = f# Y Féa*’# 470 =~ (’5 L)
3. REAFAMER AHEP 1200~ o 10 B4mEpisgedr 150~ 7. 3=2+8FR 2R (F-=)FLH 63
4 HH/REFAFIFIRTPEAP YA o 1L EREBRAF Y B - AT2 420~ o(mt» o 1,570 =~ (Moo > = L85 o P M 2 628
5. Yrif 2 B 145 %o (’%f’&dﬁ‘f %1%@‘~ﬂ9~£) 20T S L) RERAT Y B =2 ) RELPP FEA
6. ﬁ&i‘rﬁ%*i%"j(g;‘;ﬁéﬁ‘iﬁ\f"fﬁ%r’wﬁ)'llo 35 A o (MofT r P AL E) 18. 3 =2 %4 <spRApHEF * 1100 ~ -
Ao(- Bz #\izw—g,w,ﬁk ) |12, % - 374 B4 % 100 & o 19 %422 @ RERSA T o (M~ # L5
7. BRESE 175 A o (ER BERPHBAL |13 F - «pl%T 149 7 o 20. 10K RE RS fTY
FAos My P R4 ) 14. - A2 £ HE=8 % 1120~ o




